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1 %H 775 762 1,537 594

2 &/ &R 398 421 819 307

3 fit 436 448 884 343

4 B 149 162 311 119

5 {&35 793 830 1,623 681

6 & 142 166 308 117

718 31 43 74 40

8 JbfE/\fE 353 397 750 319

9 MmfE/\E 487 532 1,019 444
10 HEH 341 396 737 323
1MEH 159 167 326 124
12 /82 378 423 801 341
13 E# 242 266 508 216
14/ 942 1,073 2,015 863
15 o 211 241 452 171
16 & 290 282 572 288
17 #&de 132 145 277 106
18 LLHE 273 322 595 242
19 &2 202 209 411 156
20 tRid 152 162 314 120
21 F1A 344 380 724 242
22 h A {RH 231 245 476 178
23 M E—TH 638 698 1,336 471
24 e NEZTH 481 509 990 340
25 AE=TH 674 748 1,422 528
26 taHET B 684 771 1,455 520
27 TRARA—T 263 261 524 160
28 w/E (1) 5 24 29 26
29 M /E(T) 5 20 25 25
30 H &k 13 0 13 13
31 f£E—TH 0 0 0 0
32HEBEZTH 43 35 78 49
IBHAB=TH 1 0 1 1
34 HEMTH 694 737 1,431 549
3B HAERTH 396 425 821 281
36 XBARTH 783 885 1,668 558
37 BtTH 748 806 1,554 574
38 HE/INTH 724 795 1,519 502
39 ENTH 439 427 866 260
M REFHE—TH 736 735 1,471 635
51 §¥ES—TH 634 594 1,228 366
52 BES_-TH 551 573 1,124 339
53 fBER=TH 610 677 1,287 406
54 FFEABMNTH 804 859 1,663 496
55 BESATH 0 0 0 0
56 FER/I/NTH 0 0 0 0
57 BEStTH 0 0 0 0
58 FHER/\TH 0 0 0 0
50 HEANATH 0 0 0 0
60 HES—THNF/* 170 191 361 128
61 BEE-TBHAVIR 112 115 227 80
62 7R -<w=ya, J—} 161 189 350 116

X & & X 17,830 19,146 36,976 13,757



